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A ribbon measures 2.64m long, How long is the ribbon to the
nearest tenth of a metre

2.6

2.5

2.7

3

2

Sarah wrote down four 4 digit number, which number is closer to
25007

2386

3017

2838

3701

2100

Write each of these amouts to nearest hundreds

a. 675

b. 2945
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Jack runs 100 metres in a time of 15.47 seconds, Emily runs the
same distance in a time of 13.762 seconds. Estimate the
difference in their times by rounding each number to the nearest
whole number and subtracting

1 second

2 seconds

3 seconds

4 seconds



0 seconds

what is 0.28756 rounded to the nearest hundredth?
Add description here!

0.28

0.29

0.30

0.2

A hockey pitch is 91.4 metres long. write the length in centimetres

9100 cm
910 cm
9140 cm

914 cm

There are 2096 people in a stadium, write this number correct to
the nearest hundred

2000

2090

2100

2200

2150

what is 3.14 correct to 1 decimal place

3.2
2.9
3.0
3.1
3.15

what is 0.085 correct to 2 decimal place

0.0
0.08
0.09



0.1

0.15

what is 5.97 correct to 1 decimal place

6.0
59
5.8
5.0

5.1

what is 325.48 to nearest 100 accuracy

300
400
325
200
350

what is 325.48 to nearest 10 accuracy

300
330
325
320

335

what is 325.48 to nearest whole number accuracy
300
400

325
200

what is 325.48 to one decimal place accuracy

3254

325.0



325.5

325

Read the question and find the answer

11
10

12

Round 1619 to the nearest 10

1620
1600
1615

1625

Round 2023 to the nearest 100

2010
2000
2100
2170

2123

Round 4.2 to the nearest whole number

4.5
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Round 37456 to the nearest hundred

37400
37500
38000
37000

Round 12.7 to the nearest whole number

12
13
12.5
11
127

Round 44350 to the nearest hundred

44500
44300
44000

45000

Round 1517 to the nearest 100

1600
1400
1500
1550

Round 8885 to the nearest 10

8888
8880
8890

9000

Round £87 to the nearest £5

£80



£90
£85
£95

87.5

Round 1609.344 to the nearest 10

1600
1605
1610
1620

1619

My garden centre sells summer plants at 85p each. | have £30 to
spend. How many plants can i buy

35

30

29

40

According to google, the area of London is 1572 square km, round
this number correct to nearest 10 square km

1570

1580

1560

1550

According to google, the area of London is 1572 square km, round
this number correct to nearest 100 square km

1700

1550

1500

1600

1575



Carpenter ants can measure upto 2.64cm long, round this number

correct to 1 decimal place

2.5
2.7
2.6

2.65

Carpenter ants can measure upto 2.64cm long, round this number

correct to nearest cm

3

2.6

Round this number correct to one decimal place: 4.18

4.2
4.1
4.3

4.15

Jon thinks of a whole number, rounds it to the nearest 100 and gets
an answer of 700. What is the smallest number that Jon might
have thought of?

650

749

799

625

675

Jon thinks of a whole number, rounds it to the nearest 100 and gets
an answer of 700. What is the largest number that Jon might have
thought of?

650



749
700
600

729

A box holds 4 cakes. How many boxes are needed to store 75
cakes

18

19

20

17

round 567 to nearest 100

550
560
600
650

Which of the numbers is nearest to the value of
6.9201 x \[sqrt{\26\]

35

28

42

30

How many bags of crisps at 16p each can | buy for £2?

9
11
10

12

75 students need 3 pens each. Pens are sold in packs of 6. How

many packs need to be bought

35



36
37
38

select all the numbers which give 7 when rounded to the nearest

whole number

6.51
7.49
7.51
6.49
6.9
7.9

Party hats come in packs of eight. Elise has 42 party hats. Whats
the smallest number of packs of party hats Elise could have
bought?

5

6

4

7

5.25

Estimate the following by first rounding each number to the
nearest whole number: 9.47 x 34.5

340

315

350

320

317

Estimate the following by first rounding each number to the

nearest whole number:
3.75% -11.63 x 2.87

-30



20
30

A bus can carry 52 passengers. How many buses will be needed to
transport 993 people to a sports day?

19

20

21

18

19.07

Total attendance at a football match last season was 13,766,753.
Round this number to the nearest ten thousand

13770000

13800000

13760000

13750000

13775000

Farmer Andy chickens lay a total of 314 eggs. Each egg box holds
only 6 eggs. How many egg boxes will Andy be able to completely
fill with these eggs

52

50

51

49

52.3

There are 2600 jelly beans in a jar to the nearest hundred.
o Jack says that there could be 2538 jelly beans in the
jar.
e Mia says that there could be 2640 jelly beans in the
jar.



o Frank says that there could be 2651 jelly beans in the
jar. Which of the three people is correct?
Jack
Mia

Frank

Who am I?
* Less than a whole.
* If you round me to the nearest whole, | round up.
. I have 2 decimal places.
. 1am 0.6 when rounded to the nearest tenth.
1.07
0.74
0.6
0.53
0.58

Who am I?

* | am greater than half of 7.

* | am less than a quarter of 20.

* When rounded to the nearest tenth, | round down not

up.
| am 5 when rounded to the nearest whole
476
4.86
3.75
4.53

4.47

Who am I?

* | am greater than 32-tenths.

« If you round me to the nearest whole, | am equal to 3.
* My tenth digit is odd.

« If you round me to nearest tenth, | round down.

3.38
3.32



2.71
3.1
3.13

Who am I?
. If you round me to the nearest whole, | round up.
« If you round me to the nearest tenth, | round down.
. | have 4 digits.
. I only have one even digit.
14.53
12.78
2.71
5.821
4.379

Who am I?
. My value is between 1/4 and 3/4.
* | have 3 decimal places.
. My nearest tenth is 0.6
. If you round me to the nearest hundredth, | round up.
0.598
0.317
0.764
0.562
0.547

Who am I?
e If you round me to the nearest whole, | round up.
e If you round me to the nearest tenth, | round down.
e If you round me to the nearest hundredth, | round up.
o None of my digits are multiples of 3.
5.625
4618
5.128

7.514
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